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Questions 1 through 4 refer to the following 1.
passage and graph.

The principles of supply and demand also -
help determine workers’ wages. If more people
want to work at a certain occupation than there
are jobs available, the pay for that work will be
lower than if there are a ot of jobs and few
people to fill them. If the supply of or demand
~ for workers changes, so may the wages in that
occupation. For example, at one time there was 2.
a shortage of lawyers, and high pay prompted
many people to go to law school. Eventually, the
supply of lawyers exceeded demand, resulting in
a surplus. Many beginning lawyers had to settle
for lower wages than they expected, and some
law-school graduates had to take low-paying jobs
not directly related to the practice of law.
Another factor that influences pay is the value
of the work performed. A doctor earns more than
a doctor’s receptionist because the doctor does
specialized work that is important to society.
Of course, it takes a lot of training to become
a doctor. But training also relates to supply and
" demand. Fewer people are qualified to fill jobs
that involve difficult training. So those jobs
generally pay more than jobs that require less
training. Unpleasant or hazardous work is the
exception. Jobs in plants that process nuclear
materials require little training. However, these
jobs expose workers to potentially harmful
radiation. Thus, these jobs pay well since few
people want them,

WHAT PEOPLE EARNED, 1997

Dental TR
Hygienist
Medical

Hiustrator.

.4

Messenger

Park *
Natturalist

Police Officer
Sales Clerk

Teacher

Typist

$9° $12 . §15 $18 . $21 $24 o7
Average Annual Starting Pay (in thousands of $}

Source: Bureau of Labor Statistics

Which two occupations are closest in pay?

(1) teacher and dental hygienist

(2) medical illustrator and sales clerk

(3) messenger and typist

(4) sales clerk and doctor’s office
receptionist .

(5) teacher and park naturalist

Which is the most likely explanation of why
messengers earn more than medical
illustrators?

(1) Medical illustration is a dangerous job.

(2) There is less demand for medical
illustrators.

(8) Messenger is a more desirable job.

(4) There are many more messengers than
medical illustrators.

(5) Medical illustrators require more training .
than messengers.

The chart shows that police officers have
a high starting pay. What gives the best
explanation for the high salary police make?

(1) The job of police officer is dangerous.

(2) The demand for police officers is smaller
than the supply of people who want the
job.

(8) Training is required for the job.

(4) Most police officers are men.

(5) Police officers provide a more valuable
service to society than doctors do.

What conclusion about the starting pay of

lawyers is supported by the information?

(1) Itis better than the pay for teachers.

(2) Itis rising rapidly. '

(8) Itis better than the pay of any of the
occupations shown on the graph.

(4) It was better in the past than it is today.

(5) Itis below that of police officers.





